

WEAK AND STRONG CONVERGENCE
OF SEQUENCE OF ITERATES OF GENERALIZED CONTRACTION

AKANSHA SINGH*

Research Scholar, Department of Mathematics,
Rabindranath Tagore University, Near Bangrasiya chouraha,
Bhopal Chiklod Road, District Raisen, India.

Dr. CHITRA SINGH

Associate Professor, Department of Mathematics,
Rabindranath Tagore University, Near Bangrasiya chouraha,
Bhopal Chiklod Road, District Raisen, India.

(Received On: 10-06-18; Revised & Accepted On: 19-07-18)

ABSTRACT

The aim of this paper is to study some properties of generalized contraction mappings and obtain some result for the weak & strong convergence of sequence of iterates for mappings of this type.

Keywords: Nonexpansive mapping, quasi-nonexpansive mappings, asymptotically regular mapping, generalized contraction, reasonable wanderer.

2000 Mathematics Subject Classification: 54H25, 47H10.

INTRODUCTION & PRELIMINARIES

The aim of this paper is to study some properties of generalized contraction mappings and obtain some result for the weak and strong convergence of sequence of iterates for mappings of this type. The paper is divided into four sections. In section 1, we have shown that, if T is a generalized contraction mapping of closed, bounded and convex subset of a uniformly convex Banach space into itself with non-empty fixed points set, then the mapping T_λ defined by $T_\lambda = \lambda I + (1 - \lambda)T$, for any λ such that $0 < \lambda < 1$ is asymptotically regular. In section 2, we prove for Hilbert space the mapping T_λ as defined above is a reasonable wanderer. Finally in section 3 and 4 we have obtain some results for weak and strong convergence of sequence of iterates of such kind of mappings.

Definition 1.1: Let C be a closed, bounded and convex subset of a Banach space X . A mapping $T: C \rightarrow C$ is said to be nonexpansive if

$$\|Tx - Ty\| \leq \|x - y\| \quad \text{for all } x, y \in X$$

Definition 1.2: A mapping $T: C \rightarrow C$ is said to be quasi-nonexpansive if

$$\|Tx - Ty\| \leq a\|x - y\| + b\|x - Tx\| + c\|y - Ty\|$$

for all $x, y \in C$, $a \geq 0, b \geq 0, c \geq 0$ and $a + b + c \leq 1$.

The following example shows that there are quasi-nonexpansive mappings which are not nonexpansive.

Example 1.1: Let $X = [0,1]$ and let $Tx = \frac{1}{3}x$ for $0 \leq x < 1$ and $T(1) = \frac{1}{6}$, then T is quasi-nonexpansive, but it is not nonexpansive.

Definition 1.3: A mapping $T: C \rightarrow C$ is said to be a generalized contraction if for any $x, y \in C$ we have

$$\|Tx - Ty\| \leq a\|x - y\| + b[\|x - Tx\| + \|y - Ty\|] + c[\|x - Ty\| + \|y - Tx\|]$$

Where $a, b, c \in [0,1]$ and $a + 2b + 2c = 1$.

Corresponding Author: Akansha Singh*

Research Scholar, Department of Mathematics,
Rabindranath Tagore University, Near Bangrasiya chouraha,
Bhopal Chiklod Road, District Raisen, India.

The following example shows that there are generalized contraction mappings which are not quasi-nonexpansive mappings.

Example 1.2: Let

$$M_1 = \left\{ \frac{m}{n} : m = 0, 1, 3, 9, \dots, n = 1, 4, 7, \dots, 3k + 1, \dots \right\}$$

$$M_2 = \left\{ \frac{m}{n} : m = 1, 3, 9, 27, \dots, n = 2, 5, \dots, 3k + 2, \dots \right\}$$

and let $M = M_1 \cup M_2$ with the usual metric. Define $T: M \rightarrow M$ as follows

$$T(x) = \begin{cases} \frac{2}{3}x & \text{for } x \text{ in } M_1 \\ \frac{1}{3}x & \text{for } x \text{ in } M_2 \end{cases}$$

Then T is generalized contraction. Indeed, if both x and y are in M_1 or in M_2 , then $\|Tx - Ty\| \leq \frac{2}{3}\|x - y\|$. If x in M_1 and y in M_2 , then for $x = 1$ & $y = \frac{1}{2}$ we have

$$\|Tx - Ty\| = \frac{2}{3} - \frac{1}{6} = \frac{1}{2}$$

Also

$$a\|x - y\| + b[\|x - Tx\| + \|y - Ty\|] + c[\|x - Ty\| + \|y - Tx\|]$$

$$= a \cdot \frac{1}{2} + b \left(\frac{1}{3} + \frac{1}{3} \right) + c \left(\frac{5}{6} + \frac{1}{6} \right) = \frac{1}{2} \text{ for } a = \frac{1}{2}, b = \frac{1}{4}, c = \frac{1}{12}$$

Thus

$$\|Tx - Ty\| \leq a\|x - y\| + b[\|x - Tx\| + \|y - Ty\|] + c[\|x - Ty\| + \|y - Tx\|]$$

However, T is not quasi-nonexpansive. Indeed, taking $a = b = c = \frac{1}{3}$ we have

$$\frac{1}{3}\{\|x - y\| + \|x - Tx\| + \|y - Ty\|\} = \frac{1}{3}\left(\frac{1}{2} + \frac{1}{3} + \frac{1}{3}\right) = \frac{7}{18}$$

It follows that $\|Tx - Ty\| \not\leq \frac{1}{3}\{\|x - y\| + \|x - Tx\| + \|y - Ty\|\}$

Definition 1.4: A Banach space X is said to be uniformly convex if given $\varepsilon > 0$ there exists $\delta(\varepsilon) > 0$ such that $\|x - y\| \geq \varepsilon$ for $\|x\| \leq 1$ and $\|y\| \leq 1$

implies $\left\| \frac{1}{2}(x + y) \right\| \leq 1 - \delta(\varepsilon)$.

Definition 1.5: Let X be a Banach space and C be a closed, convex subset of X . A mapping $T: C \rightarrow C$ is called asymptotically regular at x if and only if $\|T^n x - T^{n+1} x\| \rightarrow 0$ as $n \rightarrow \infty$.

RESULTS

Theorem 1.1: Let D be a nonempty, bounded and convex subset of a uniformly convex Banach space X . Let $T: D \rightarrow D$ be a generalized contraction mapping. Let us suppose that $F = \{x \in D: Tx = x\}$ is non-empty. Then the mapping T_λ defined by $T_\lambda = \lambda T + (1 - \lambda)I$ for any λ such that $0 < \lambda < 1$ is asymptotically regular with the same fixed point as T .

Proof: It is clear that $F(T) = F(T_\lambda)$, where $F(T)$ and $F(T_\lambda)$ are the fixed point sets of T and T_λ respectively. Indeed, x in $F(T)$ implies $Tx = x$. Thus $T_\lambda x = \lambda x + (1 - \lambda)x = x$, hence x in $F(T_\lambda)$, i.e. $F(T)$ is contained in $F(T_\lambda)$. Conversely y in $F(T_\lambda)$ implies $T_\lambda y = y = \lambda Ty + (1 - \lambda)y$, which implies $\lambda Ty = \lambda y$, or $Ty = y$. Thus $F(T_\lambda)$ contained in $F(T)$. Hence $F(T) = F(T_\lambda)$.

Let x_0 in D , $x_{n+1} = T_\lambda(x_n)$, $n = 0, 1, 2, \dots$. Since $T_\lambda x - x = \lambda(x - Tx)$ for x in D , it is enough to show that $\|x_n - Tx_n\| \rightarrow 0$ as $n \rightarrow \infty$. Now let x in D and y in $F(T)$, hence in $F(T_\lambda)$, then

$$\begin{aligned} \|Tx - y\| &= \|Tx - Ty\| \\ &\leq a\|x - y\| + b[\|x - Tx\| + \|y - Ty\|] + c[\|x - Ty\| + \|y - Tx\|] \\ &\leq a\|x - y\| + b\|x - Tx\| + c[\|x - y\| + \|y - Tx\|] \\ &\leq \frac{a+b+c}{1-b-c}\|x - y\| \leq \|x - y\| \quad \text{as } a + 2b + 2c = 1. \end{aligned}$$

Thus we obtain

$$(1) \quad \|Tx - y\| \leq \|x - y\|$$

Also

$$(2) \quad \begin{aligned} \|y - T_\lambda x\| &= \|y - (1 - \lambda)x - \lambda Tx\| = \|(1 - \lambda)(y - x) + \lambda(y - Tx)\| \\ &\leq (1 - \lambda)\|x - y\| + \lambda\|y - Tx\| \leq (1 - \lambda)\|x - y\| + \lambda\|x - y\| \\ &= \|y - x\|. \end{aligned}$$

So the sequence $\{\|y - x_n\|\}$ is bounded by $\|y - x_0\|$. If $y = x_n$ for some n , then from (2), $\{x_n\}$ converges to y and the proof is complete. So we may assume that $y \neq x_n$ for all $n = 0, 1, 2, \dots$. Suppose that $\lambda \leq \frac{1}{2}$. Now

$$(3) \quad \begin{aligned} \|y - x_{n+1}\| &= \|\lambda(y - x_n + y - Tx_n) + (1 - 2\lambda)(y - x_n)\| \\ &\leq \lambda\|y - x_n + y - Tx_n\| + (1 - 2\lambda)\|y - x_n\| \\ &= (\|y - x_n\|)\lambda \left\| \frac{y - x_n + y - Tx_n}{\|y - x_n\|} \right\| + (1 - 2\lambda)\|y - x_n\| \end{aligned}$$

Let

$$(4) \quad a = (y - x_n)/\|y - x_n\| \quad \text{and} \quad b = (y - Tx_n)/\|y - x_n\|$$

then

$$\|a + b\| = \|y - x_n + y - Tx_n\|/\|y - x_n\|$$

and $\|a\| \leq 1$, $\|b\| \leq 1$. Thus from (3) we get

$$(5) \quad \begin{aligned} \|y - x_{n+1}\| &= 2\lambda \left\| \frac{1}{2}(a + b) \right\| \|y - x_n\| + (1 - 2\lambda)\|y - x_n\| \\ &= \left\{ 2\lambda \left\| \frac{1}{2}(a + b) \right\| + (1 - 2\lambda) \right\} \|y - x_n\| \end{aligned}$$

Since X is uniformly convex

$$\delta(\varepsilon) = \inf \left\{ 1 - \frac{1}{2}(x + y) : \|x\| \leq 1, \|y\| \leq 1, \|x - y\| \geq \varepsilon \right\}$$

is positive for ε in $(0, 2]$. Also $\delta(0) = 0$. From (4) we have

$$\left\| \frac{1}{2}(a + b) \right\| \leq 1 - \delta(\|x_n - Tx_n\|/\|y - x_n\|)$$

Since δ is monotonically nondecreasing on $[0, 2]$

$$(6) \quad \left\| \frac{1}{2}(a + b) \right\| \leq 1 - \delta(\|x_n - Tx_n\|/M)$$

Thus from (5) and (6) we have

$$(7) \quad \begin{aligned} \|y - x_{n+1}\| &\leq 2\lambda\|y - x_n\|(1 - \delta(\|x_n - Tx_n\|/M)) + (1 - 2\lambda)\|y - x_n\| \\ &= \{2\lambda - 2\lambda\delta(\|x_n - Tx_n\|/M)(1 - 2\lambda)\}\|y - x_n\| \\ &= (1 - 2\lambda\delta(\|x_n - Tx_n\|/M))\|y - x_n\| \end{aligned}$$

From (7) and by induction we obtain

$$(8) \quad \|y - x_{n+1}\| \leq \prod_{j=0}^n (1 - 2\lambda\delta(\|x_j - Tx_j\|/M)) M$$

Suppose $\{x_n - Tx_n\}$ does not converge to zero. Then there exists a subsequence $\{x_{k(n)}\}$ of $\{x_n\}$ such that $\{x_{k(n)} - Tx_{k(n)}\}$ converges to some constant α in $(0, \infty)$. Since δ is monotonically nondecreasing and $(1 - 2\lambda\delta(\|x_j - Tx_j\|/M))$ belongs to $[0, 1]$ for each j , we have from (8) for sufficiently large n

$$\|y - x_{k(n+1)}\| \leq 1 - 2\lambda\delta(\alpha/2M)^n M$$

So $\{x_{k(n)}\}$ converges to y , but then from (1) we get the convergence of $\{Tx_{k(n)}\}$ to y . Therefore $\{x_{k(n)} - Tx_{k(n)}\}$ converges to zero, a contradiction to the choice of. If $\lambda \geq \frac{1}{2}$ then $1 - \lambda \leq \frac{1}{2}$, we can apply the same argument as above by replacing (4) as

$$\begin{aligned} \|y - x_{n+1}\| &= \|(1 - \lambda)(y - x_n + y - Tx_n) + (2\lambda - 1)(y - Tx_n)\| \\ &\leq (1 - \lambda)\|y - x_n + y - Tx_n\| + (2\lambda - 1)\|y - Tx_n\| \\ &= (1 - \lambda)\|y - x_n\| \left\| \frac{1}{2}(a + b) \right\| + (2\lambda - 1)\|y - Tx_n\| \end{aligned}$$

By induction the roles of λ and $1 - \lambda$ we can obtain as earlier a contradiction. Thus T_λ is asymptotically regular.

Remark 1.1: A theorem similar to our Theorem 1.1 for nonexpansive mappings was proved by Schaefer [15].

Definition 2.1: Let H be a Hilbert space and C be a closed, convex subset of H . A mapping $T: C \rightarrow C$ is said to be *reasonable wanderer* in C if starting at any point x_0 in C , its successive steps $x_n = T^n x_0$ ($n = 1, 2, 3, \dots$) are such that the sum of square of their lengths is finite, i.e. $\sum_{n=0}^{\infty} \|x_{n+1} - x_n\| < \infty$.

Theorem 2.1: Let H be a Hilbert space and C be a closed, convex subset of H . A mapping $T: C \rightarrow C$ be a generalized contraction mapping. Suppose F , the fixed point set of T in C is nonempty. Let $T_\lambda = \lambda I + (1 - \lambda)T$ for any given λ with $0 < \lambda < 1$, then T_λ is a reasonable wanderer from C into C with the same fixed point as T .

Proof: For any $x \in C$, set $x_n = T_\lambda^n x$ and let y be a fixed point of T and, hence of T_λ . Then

$$(9) \quad \begin{aligned} x_{n+1} - y &= \lambda x_n + (1 - \lambda)Tx_n - \lambda y - (1 - \lambda)y \\ &= \lambda(x_n - y) + (1 - \lambda)(Tx_n - y) \end{aligned}$$

Now

$$(10) \quad \begin{aligned} \|Tx_n - y\| &= \|Tx_n - Ty\| \\ &\leq a\|x_n - y\| + b[\|x_n - Tx_n\| + \|y - Ty\|] + c[\|x_n - Ty\| + \|y - Tx_n\|] \\ &\leq a\|x_n - y\| + b\|x_n - Tx_n\| + c[\|x_n - y\| + \|y - Tx_n\|] \\ &\leq \frac{a+b+c}{1-b-c}\|x_n - y\| \leq \|x_n - y\| \quad \text{as } a + 2b + 2c = 1. \end{aligned}$$

Thus we obtain

$$(11) \quad \|Tx_n - y\| \leq \|x_n - y\|$$

Also for any a , we have

$$(12) \quad a(x_n - Tx_n) = a(x_n - y + y - Tx_n) = a(x_n - y) - a(Tx_n - y)$$

Using (9) we get

$$(13) \quad \begin{aligned} \|x_{n+1} - y\|^2 &= \lambda^2\|x_n - y\|^2 + (1 - \lambda)^2\|Tx_n - y\|^2 + 2\lambda(1 - \lambda)(Tx_n - y, x_n - y) \\ &\leq \lambda^2\|x_n - y\|^2 + (1 - \lambda)^2\|x_n - y\|^2 + 2\lambda(1 - \lambda)(Tx_n - y, x_n - y) \\ &= \{\lambda^2 + (1 - \lambda)^2\}\|x_n - y\|^2 + 2\lambda(1 - \lambda)(Tx_n - y, x_n - y) \end{aligned}$$

Using (13) we get

$$(14) \quad \begin{aligned} a^2\|x_n - Tx_n\|^2 &= a^2\|x_n - y\|^2 + a^2\|Tx_n - y\|^2 - 2a^2(Tx_n - y, x_n - y) \\ &\leq 2a^2\|x_n - y\|^2 - 2a^2(Tx_n - y, x_n - y) \end{aligned}$$

Adding (13) and (14) we obtain

$$(15) \quad \|x_{n+1} - y\|^2 + a^2\|x_n - Tx_n\|^2 \leq \{2a^2 + \lambda^2 + (1 - \lambda)^2\}\|x_n - y\|^2 + 2\{\lambda(1 - \lambda) - a^2\}(Tx_n - y, x_n - y)$$

If we assume that a is such that $a^2 \leq \lambda(1 - \lambda)$, then from (15) and using Cauchy-Schwarz inequality we get

$$(16) \quad \begin{aligned} \|x_{n+1} - y\|^2 + a^2\|x_n - Tx_n\|^2 \\ \leq \{2a^2 + \lambda^2 + (1 - \lambda)^2\}\|x_n - y\|^2 + \{2\lambda(1 - \lambda) - 2a^2\}\|x_n - y\|^2 = \|x_n - y\|^2 \end{aligned}$$

Letting $a^2 = \lambda(1 - \lambda) > 0$ and summing up (16) from $n = 0$ to $n = N$ we get

$$\begin{aligned} \lambda(1 - \lambda) \sum_{n=0}^N \|x_n - Tx_n\|^2 &\leq \sum_{n=0}^N \{\|x_n - y\|^2 - \|x_{n+1} - y\|^2\} \\ &\leq \|x_0 - y\|^2 - \|x_{N+1} - y\|^2 \leq \|x_0 - y\|^2 \end{aligned}$$

Hence $\sum_{n=0}^{\infty} \|x_n - Tx_n\|^2 < \infty$. Since $x_{n+1} - x_n = (1 - \lambda)(x_n - Tx_n)$, we obtain

$$\begin{aligned} \lambda(1 - \lambda) \sum_{n=0}^{\infty} \|x_n - Tx_n\|^2 &= \lambda(1 - \lambda) \sum_{n=0}^{\infty} \frac{1}{(1 - \lambda)^2} \|x_{n+1} - x_n\|^2 \\ &= \frac{\lambda}{(1 - \lambda)} \sum_{n=0}^{\infty} \|x_{n+1} - x_n\|^2 \leq \|x_0 - y\|^2 \end{aligned}$$

Hence

$$\sum_{n=0}^{\infty} \|x_{n+1} - x_n\|^2 \leq \frac{1 - \lambda}{\lambda} \|x_0 - y\|^2 < \infty$$

i.e. T_λ is reasonable wanderer.

Remark 2.1: A similar theorem for nonexpansive mapping was proved by Browder and Petryshyn [2]. Unfortunately the theorem is not stated correctly there. The mapping. T_λ should be defined by $T_\lambda = \lambda I + (1 - \lambda)T$ instead of $T_\lambda = I + (1 - \lambda)T$.

Lemma 3.1: Let H be a Hilbert space and C be a nonempty, convex subset of H . Let $T: C \rightarrow C$ be a generalized contraction mapping. Suppose F , the fixed point set of T in C is nonempty, then F is convex.

Proof: We may assume that F consists of more than one point; otherwise the result is proved. Let $x, y \in F$. It is enough to show that $z = \lambda x + (1 - \lambda)y$, $0 < \lambda < 1$ belongs to F . Since T is generalized contraction, from (1) we have

$$\|Tz - x\| \leq \|z - x\| \quad \text{and} \quad \|Tz - y\| \leq \|z - y\|$$

Now $z - x = \lambda x + (1 - \lambda)y - x = -(1 - \lambda)(x - y)$. Hence $x - z = (1 - \lambda)(x - y)$, and $z - y = \lambda(x - y)$. Thus we obtain

$$\begin{aligned} \|x - y\| &\leq \|x - Tz\| + \|Tz - y\| \leq \|x - z\| + \|z - y\| \\ &= (1 - \lambda)\|x - y\| + \lambda\|x - y\| = \|x - y\| \end{aligned}$$

Hence

$$\|x - Tz\| + \|Tz - y\| = \|x - Tz + Tz - y\|$$

If $x - Tz = 0$, then $\|Tz - y\| = \|x - y\| \leq \lambda\|x - y\|$, whence $1 \leq \lambda$, which is not true. Similarly $Tz - y = 0$ implies that $1 \leq 1 - \lambda$, whence $\lambda \leq 0$, which is not true. Since H is strictly convex, therefore there exists $\alpha > 0$ such that $Tz - x = \alpha(y - Tz)$, whence $Tz = (1 - \beta)x + \beta y$, where $\beta = \alpha/(1 + \alpha)$. We have $Tz - x = \beta(y - x)$ and so $\beta\|y - x\| = \|Tz - x\| \leq \|z - x\| = (1 - \lambda)\|x - y\|$

which gives $\beta \leq 1 - \lambda$. Using $Tz - y = (1 - \beta)(x - y)$, a similar argument gives $\beta \geq 1 - \lambda$. Thus $\beta = 1 - \lambda$ and so $Tz = \lambda x + (1 - \lambda)y = z$, i.e. z belongs to F .

Lemma 3.2: ([5], Proposition 2.5, pp.53). *Let X be a Banach space and g a convex continuous real-valued function on X . Then g is weakly lower semi continuous.*

Lemma 3.3: ([5] Proposition 1.4, pp.32). *Let X be a topological space and C be a compact subset of it. Let $g: X \rightarrow R$ be a lower semi continuous function in X . Then there exists x_0 in C such that $g(x_0) = \inf_{x \in C} g(x)$.*

Definition 3.1: Let X be a Banach space. A mapping $T: X \rightarrow X$ is said to be *demiclosed* if for any sequence $\{x_n\}$ such that $x_n \rightarrow x$ (i.e. x_n converges weakly to x) and $Tx_n \rightarrow y$ then $y = Tx$.

Theorem 3.1: *Let H be a Hilbert space and T be a generalized contraction asymptotically regular mapping of H into itself. Suppose T is continuous and $I - T$ is demiclosed. Let F , the fixed point set of T in H be nonempty. Then for each x_0 in H , the sequence of iterates $\{T^n x_0\}$ converges weakly to a point of F .*

Proof: Since F is nonempty we see that a ball B about some fixed point and containing x_0 is mapped into itself by T ; consequently B contains the sequence of iterates $\{T^n x_0\}$. So we may restrict ourselves to mappings of a ball into itself. It follows from Lemma 3.1 that F is convex. The continuity of T implies that F is closed. Thus F being closed, bounded and convex is weakly compact.

Define in F the following mapping $g: F \rightarrow R^+$ (R^+ = nonnegative real numbers)

$$(17) \quad g(y) = \inf_n \|T^n x_0 - y\| = \lim_{n \rightarrow \infty} \|T^n x_0 - y\|$$

(In (17) $\lim = \inf$, because the sequence $\{\|T^n x_0 - y\|\}$ is nonincreasing, see (18)). The mapping g so defined is continuous. Indeed,

$$g(z) = \lim \|T^n x_0 - z\| \leq \lim \|T^n x_0 - y\| + \|y - z\| = g(y) + \|y - z\|$$

From this inequality it follows that $|g(y) - g(z)| \leq \|y - z\|$. On the other hand, g is a convex function. In fact

$$\begin{aligned} g(\lambda y + (1 - \lambda)z) &= \lim \|T^n x_0 - (\lambda y + (1 - \lambda)z)\| \\ &= \lim \|\lambda T^n x_0 - \lambda y + (1 - \lambda)(T^n x_0 - z)\| \\ &\leq \lambda \lim \|T^n x_0 - y\| + (1 - \lambda) \lim \|T^n x_0 - z\| \\ &= \lambda g(y) + (1 - \lambda)g(z) \end{aligned}$$

Thus using Lemma 3.2 we see that g is weakly lower semi continuous. Now applying Lemma 3.3 we conclude that there exists a point u in F such that

$$g(u) = \alpha = \inf_{y \in F} g(y)$$

Now we claim that u is unique. Suppose there exists another point v of F such that $g(v) = \alpha$. Since g is convex, for $0 \leq \lambda \leq 1$ we have

$$g(\lambda u + (1 - \lambda)v) \leq \lambda g(u) + (1 - \lambda)g(v) = \lambda \alpha + (1 - \lambda)\alpha = \alpha$$

Thus

$$\begin{aligned} \alpha &\geq g(\lambda u + (1 - \lambda)v) = \inf \|T^n x_0 - \lambda u + (1 - \lambda)v\| \\ &= \inf \|\lambda(T^n x_0 - u) + (1 - \lambda)(T^n x_0 - v)\| \\ &\geq \lambda \inf \|T^n x_0 - u\| + (1 - \lambda) \inf \|T^n x_0 - v\| \\ &= g(u) + (1 - \lambda)g(v) = \lambda \alpha + (1 - \lambda)\alpha = \alpha \end{aligned}$$

Hence $g(\lambda u + (1 - \lambda)v) = \alpha$. Since $u \in F$ and T is generalized contraction, it follows that

$$\begin{aligned} (18) \quad \|T^n x_0 - u\| &= \|T^n x_0 - Tu\| \\ &\leq a\|T^{n-1}x_0 - u\| + b[\|T^{n-1}x_0 - T^n x_0\| + \|u - Tu\|] + c[\|T^{n-1}x_0 - Tu\| + \|u - T^n x_0\|] \\ &\leq a\|T^{n-1}x_0 - u\| + b\|T^{n-1}x_0 - T^n x_0\| + c[\|T^{n-1}x_0 - u\| + \|u - T^n x_0\|] \\ &\leq \frac{a+b+c}{1-b-c} \|T^{n-1}x_0 - u\| \leq \|T^{n-1}x_0 - u\| \quad \text{as } a + 2b + 2c = 1. \end{aligned}$$

Thus we obtain

$$(19) \quad \|T^n x_0 - y\| \leq \|T^{n-1}x_0 - u\|$$

Similarly for $v \in F$ it follows that

$$(20) \quad \|T^n x_0 - v\| \leq \|T^{n-1} x_0 - v\|$$

So, the sequence $\{\|T^n x_0 - u\|\}$ and $\{\|T^n x_0 - v\|\}$ are nonincreasing. Therefore

$$\|x_n - u\| = \|T^n x_0 - u\| \rightarrow \alpha \quad \text{and} \quad \|x_n - v\| = \|T^n x_0 - v\| \rightarrow \alpha$$

Thus from the uniform convexity of H , we conclude that $\|(x_n - u) - (x_n - v)\| \rightarrow 0$, i.e. $u = v$.

Finally it remains to show that the sequence $\{T^n x_0\}$ converges weakly to u . Suppose not, then by the reflexivity of H and the boundedness of the sequence $\{T^n x_0\}$, there exists a convergent subsequence of $\{T^{n(j)} x_0\}$ whose limit say z is different from u . Since T is asymptotically regular, it follows that the sequence $\{(I - T)(T^{n(j)} x_0)\}$ tends to zero as $n \rightarrow \infty$. Since by hypothesis $I - T$ is demiclosed, $(I - T)z = 0$, i.e. z is a fixed point of T . We claim that $z = u$. Indeed, we have

$$\begin{aligned} \|T^{n(j)} x_0 - u\|^2 &= \|T^{n(j)} x_0 - z + z - u\|^2 \\ &= \|T^{n(j)} x_0 - z\|^2 + \|z - u\|^2 + 2\operatorname{Re}(T^{n(j)} x_0 - z, z - u) \end{aligned}$$

Taking limits we obtain

$$g(u) = g(z) + \|z - u\|^2$$

which is possible only if $z = u$. This completes the proof of the theorem.

Theorem 3.2: Let X be a reflexive Banach space and T an asymptotically regular generalized contraction mapping from X into itself. Suppose T is continuous and $I - T$ is demiclosed. Let $F(T)$, the fixed point set of T in X be nonempty. Then, for each x_0 in X , every subsequence of $\{T^n x_0\}$ contains a further subsequence which converges weakly to a fixed point of T . In particular, if $F(T)$ consists of precisely one point then the whole sequence $\{T^n x_0\}$ converges to this point.

Proof: Let y be in $F(T)$. Since T is generalized contraction, it follows that $\|T^n x_0 - y\| \leq \|x_0 - y\|$. So the sequence $\{T^n x_0\}$ is bounded. Thus it follows from the reflexivity of X that every subsequence of $\{T^n x_0\}$ contains a further subsequence, which we again denoted by $\{T^{n(j)} x_0\}$ such that $T^{n(j)} x_0 \rightarrow y$. Now we show that y is a fixed point of T . Indeed, since $T^{n(j)} x_0 \rightarrow y$, it follows that $(I - T)T^{n(j)} x_0 \rightarrow (I - T)y$. On the other hand since T is asymptotically regular it follows that

$$(I - T)T^{n(j)} x_0 = T^{n(j)} x_0 - T^{n(j)+1} x_0 \rightarrow 0 \quad \text{as } n \rightarrow \infty$$

Thus $(I - T)y = 0$, i.e. y is a fixed point of T . If $F(T)$ contains only one point y then the whole sequence must converge to y .

Remark 3.1: A theorem similar to our Theorem 3.1 for nonexpansive mapping was proved by Opial [10] and a theorem similar to our Theorem 3.2 was obtained by Browder and Petryshyn [1].

In the sequel we will prove some strong convergence theorems for sequence of iterates for the generalized contraction mapping. We will assume that T is continuous in the present section.

Theorem 4.1: Let X be a Banach space and T a generalized contractive asymptotically regular mapping of X into itself. Suppose that $F(T)$, the fixed point set of T in X is nonempty. Let us assume that T satisfies the following condition:

(A) $(I - T)$ maps bounded closed sets into closed sets.

Then for any point x_0 in X , the sequence $\{T^n x_0\}$ converges strongly to some point in $F(T)$.

Proof: Let y be a fixed point of T , since T is generalized contraction, it follows that

$$\|T^{n+1} x_0 - y\| \leq \|T^n x_0 - y\|, \quad n = 1, 2, 3, \dots$$

So the sequence $\{T^n x_0\}$ is bounded. Let D be the strong closure of $\{T^n x_0\}$. By condition (A) it follows that $(I - T)(D)$ is closed. This together with the fact that T is asymptotically regular implies that zero belongs to $(I - T)(D)$. So there exists z in D such that $(I - T)z = 0$. But this implies that either $z = T^n x_0$ for some n , or there exists a sequence $\{T^{n(j)} x_0\}$ converging to z . Since z is a fixed point of T , we conclude that in either case the whole sequence $\{T^n x_0\}$ converges to z .

Corollary 4.1: Let X be a Banach space and T a generalized contractive asymptotically regular mapping of X into itself. Suppose that $F(T)$, the fixed point set of T in X is nonempty. Let us assume that T satisfies the following condition:

(A) $(I - T)$ maps bounded closed sets into closed sets.

Then for any point x_0 in X , the sequence $\{x_n\}$ defined by

$$x_{n+1} = \lambda x_n + (1 - \lambda)Tx_n, \quad 0 < \lambda < 1$$

converges strongly to a fixed point of T .

Proof: Let λ be such that $0 < \lambda < 1$. Let $T_\lambda = \lambda I + (1 - \lambda)T$. It follows from Theorem 1.1 that T_λ is asymptotically regular. T satisfies condition (A) if and only if T_λ is also does. Indeed, we just observe that $I - T_\lambda = (1 - \lambda)(I - T)$. Let us observe that T_λ is not generalized contraction, however, for any y in $F(T)$ it follows from (2) that $\|T_\lambda x - y\| \leq \|x - y\|$. From this we conclude that the sequence $\{T_\lambda^n x_0\}$ is bounded, hence the corollary follows from Theorem 4.1.

Definition 4.1: A continuous mapping T from a Banach space X into itself is said to be *demicompact* if every bounded sequence $\{x_n\}$ such that $\{(I - T)(x_n)\}$ converges strongly, contains a strongly convergent subsequence $\{x_{n(j)}\}$.

Remark 4.1: It follows from Proposition II.4 ([5], pp.47) that a demicompact mapping T of a Banach space X into itself satisfies condition (A). Thus we have the following corollary.

Corollary 4.2: Let X be a uniformly convex Banach space. Let T be a generalized contractive demicompact mapping of X into itself. Then, for each point x_0 in X , the sequence $\{x_n\}$ defined by

$$x_{n+1} = \lambda x_n + (1 - \lambda)Tx_n, \quad 0 < \lambda < 1$$

converges strongly to a fixed point of T .

Remark 4.2: Theorem 4.1, Corollary 4.1 and Corollary 4.2 for nonexpansive mappings were proved by Browder and Petryshyn [1].

As our final result we prove the following result:

Theorem 4.2: Let X be strictly convex Banach space and D be compact convex subset of X . Let $T: D \rightarrow D$ be continuous generalized contraction. Then the fixed point set $F(T)$ of T is nonempty and compact moreover for any x_0 in D and any λ such that $0 < \lambda < 1$, $\{T_\lambda^n x_0\}$ converges to a fixed point of T , where

$$T_\lambda x = (1 - \lambda)x + \lambda Tx, \quad x \in X$$

Proof: By the continuity of T and the Schauder-Tychonoff theorem, it follows that $F(T)$, the fixed point set of T is compact and nonempty. Let $n \geq 0, x_n = T_\lambda^n x_0$. Since D is compact, $\{x_n\}$ has a convergent subsequence $\{x_{k(n)}\}$ which converges to some point $x \in D$. We need to show that x is a fixed point of T . From (1) it follows that $\{\|x_n - y\|\}$, where y is a fixed point of T is monotonically non-increasing. So by the continuity of norm and T_λ we have

$$(21) \quad \begin{aligned} \|x - y\| &= \lim_{n \rightarrow \infty} \|x_{k(n+1)} - y\| \leq \lim_{n \rightarrow \infty} \|x_{k(n)+1} - y\| \\ &= \lim_{n \rightarrow \infty} \|T(x_{k(n)}) - y\| = \|T_\lambda x - y\| \end{aligned}$$

By (21) and (2) we obtain

$$(22) \quad \|T_\lambda x - y\| = \|x - y\|$$

Moreover,

$$(23) \quad \begin{aligned} \|T_\lambda x - y\| &= \|(1 - \lambda)x + \lambda Tx - y\| = \|(1 - \lambda)(x - y) + \lambda(Tx - y)\| \\ &\leq (1 - \lambda)\|x - y\| + \lambda\|Tx - y\| = \|x - y\| \end{aligned}$$

Combining (22) and (23) we conclude that all inequalities in (23) are equalities. So

$$(24) \quad \|(1 - \lambda)(x - y) + \lambda(Tx - y)\| = (1 - \lambda)\|x - y\| + \lambda\|Tx - y\|$$

And

$$(25) \quad \|Tx - y\| = \|x - y\|$$

By (24) and strict convexity of X , either $x = y$ or $Tx - y = t(x - y)$ for some $t > 0$. From (25) it follows that $t = 1$. Thus $Tx - y = x - y$ or $x = Tx$. Hence x is a fixed point of T . It follows from (23) that the sequence $\{\|x_n - y\|\}$ is monotonically non-increasing, hence $\{x_n\}$ converges to x .

Remark 4.3: The above result was proved by Edelstein [6] for nonexpansive mappings.

REFERENCES

1. B.E. Browder and W.V. Petryshyn, *The solution by iteration of nonlinear functional equations in Banach spaces*, Bull. Amer. Math. Soc., 72(1966), pp. 571-575.
2. ----, *Construction of fixed points of nonlinear mappings in Hilbert space*, J. Math. Anal. Appl., 20(1967), PP. 197-228.

3. Lj. B. Ćirić, *Fixed point theorems for mappings with a generalized contractive iterates at a point*, Publ. Inst. Math. (Beograd) 13(27) (1972), pp. 11-16.
4. --- *On fixed point theorems in Banach spaces*, Publ. Inst. Math. (Beograd) 19(33) (1975), pp. 43-50.
5. D.G. de Figueiredo, *Topics in nonlinear functional analysis*, Lecture series No. 48, University of Maryland (1967).
6. M. Edelstein, *A remark on a theorem of M.A. Krasnoselskii*, Amer. Math. Monthly, 73(1966), pp. 509-510.
7. K. Gobel, *An elementary proof of the fixed point theorem of Browder and Kirk*, Michigan Math. J., 16(1969), pp. 381-383.
8. R. Kannan, *Fixed point theorems in reflexive Banach spaces*, Proc. Amer. Math. Soc., 38(1973), pp.111-118.
9. --- *Construction of fixed point of a class of nonlinear mappings*, J. Math. Anal. Appl., 41(1973), pp. 430-438.
10. Z. Opial, *Weak convergence of the sequence of successive approximations for nonexpansive mappings*, Bull. Amer. Math. Soc., 73(1967), pp. 591-597.
11. --- *Nonexpansive and monotone mappings in Banach spaces*, Lecture series No. 1, January 1967, Brown University.
12. W.V. Petryshyn, *Construction of fixed points of demicompact mappings in Hilbert spaces*, J. Math. Anal. Appl., 14(1966), pp. 276-284.
13. S. Reich, *Some remarks concerning contraction mappings*, Canad. Math. Bull., 14(1971), pp. 121-124.
14. ---, *Fixed points of contractive functions*, Boll. Uni. Math. Italiana, 5(4) (1972), pp. 26-42.
15. H. Schaefer, *Über die Methode sukzessiver Approximationen*, Jbr. Deutch. Math. Verein. 59(1957), pp. 131-140.
16. K. L. Singh, *Contraction mappings and fixed point theorems*, Ann. Soc. Sci. De Bruxelles, 83(1968), pp. 34-44.
17. --- *On some fixed point theorems I*, Riv. Di Mat. Univ. Parma., 2(10)(1969), pp. 13-21.
18. --- *Fixed and common fixed points for generalized contraction mappings*, Bull. Acad. Polon. Sci. (Accepted).
19. P. Suardi, *Su un problema di S.Reich*, Boll. Uni. Math. Italiana (1971), pp. 841-845.
20. C.S. Wong, *Approximation to fixed points of generalized nonexpansive mappings*, Proc. Amer. Math. Soc., 54 (1976), pp. 93-97.

Source of support: Nil, Conflict of interest: None Declared.

[Copy right © 2018. This is an Open Access article distributed under the terms of the International Journal of Mathematical Archive (IJMA), which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.]